ZCA 110(B)
Calculus and Linear Algebra

Semester I, Sessi 2006/07

QUIZ 2 (10 Aug 2006)
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Q1 Evaluate the following limits or explain why they do not exist.

e =4

i lim

@) 2 x* —x—2

Solution

o =2 (x+2

lim f i —hm(l )(A ) .Since x> 2= x+#2.Hence

=2 xt—x-2 2 (x+1)(x-2)

L (2)(x+2) | ye lmx+2 g

im =

2 (x+1)(x—2) T lim x +1 3 Q'srwb)

o
(ii) Ll_I)Igf(x) if fim) ="
Solution: ]
’ e o e )

limH=lim£=lim1:]; GV\’W\ hml—x—|—hm = lim (1) =-1

0" x =0T x x—o0" x=0" X =0T X x—=0"

e E E . :
Since lim — # lim — , we conclude that lim does not exist. C [ R (c )

=0 x =07 x =0 x —
[3 mar
Q2. Fill up the domain and range of the hyperbolic functions in the table:
Domain Range
cosh x [1,00)
R ,h?\. veal numbers
tanh x R (-1, 1)
coth x R\ {0} (-0, -1) U (1, )
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